THE MODIFIED ZAGREB INDICES ABOUT JOIN AND COMPOSITION OF GRAPHS

Jianxiu Hao

Institute of Mathematics, Physics and Information Sciences, Zhejiang Normal University, P. O. Box: 321004, Jinhua, Zhejiang, P.R. China; e-mail: sx35@zjnu.cn

Abstract: The modified Zagreb indices are topological indices which reflect certain structural features of organic molecules. In this paper we study the modified Zagreb indices of joins and compositions.

INTRODUCTION

Zagreb indices have been introduced in 1972 by Gutman and Trinajstic [1] as terms in their derivation of the pi-electronic energy of conjugated molecules. Three years later Gutman et al. [2] formulated Zagreb indices as the branching indices. After this paper, the Zagreb indices start appearing in the structure-property-activity modeling procedures[3-7]. They are very useful topological indices in QSPR and QSAR [6, 7]. The first Zagreb index $M_1(G)$ and the second Zagreb index $M_2(G)$ are defined as follows [6, 7]: for a simple connected graph G, let $M_1(G) = \sum_{v \in V(G)} d(v)^2$, $M_2(G) = \sum_{uv \in E(G)} d(u)d(v)$, where

d(u) and d(v) are the degrees of vertices u and v respectively.

However, recently some authors found their shortcoming [8]. It has been noted that the contributing elements to the Zagreb indices give greater weights to the inner (interior) vertices and edges and smaller weights to outer (terminal) vertices and edges of a graph. This opposes intuitive reasoning that the outer atoms and bonds should have greater weights than inner vertices and bonds, because the outer vertices and bonds are associated with the larger part of the molecular surface and consequently are expected to make a greater contribution to physical, chemical and biological properties. One way to amend Zagreb indices is to input in the definitions of $M_1(G)$ and $M_2(G)$ inverse values of the vertex-degrees. We call these indices the *modified Zagreb indices* and denoted them by symbols mM_1 and mM_2 [4]. They are defined as follows [8]: for a simple

connected graph G, let
$${}^{m}M_{1}(G) = \sum_{v \in V(G)} \frac{1}{d(v)^{2}}$$
, ${}^{m}M_{2}(G) = \sum_{uv \in E(G)} \frac{1}{d(u)d(v)}$,

where d(u) and d(v) are the degrees of vertices u and v respectively.

In this paper we study the modified Zagreb indices about join and composition of graphs. In [14], Sagan et al studied Wiener polynomial problem about graph operations containing join and composition problems.

PRELIMINARIES

For further details, see [12, 13].

Definition 2.1[9, 10, 11]. The zeroth-order general Randic index ${}^{0}R_{t}(G) = \sum_{v \in V(G)} d(v)^{t}$ for general real number t, where d(v) is the degree of v. When t = -0.5, ${}^{0}R_{-0.5}(G)$ is the famous zeroth-order Randic index $R^{0}(G)$ [6]. Randic index of graph G, denotes $\chi(G)$, is defined as follows:

$$\chi(G) = \sum_{uv \in E(G)} \frac{1}{\sqrt{d(u)d(v)}}.$$

Definition 2.2[12]. The join G + H of graphs G and H with disjoint vertex sets V(G) and V(H) and edge sets E(G) and E(H) is the graph union $G \cup H$ together with all the edges joining V(G) and V(H).

Definition 2.3[15]. The composition $G = G_1[G_2]$ of graphs G_1 and G_2 with disjoint vertex sets V_1 and V_2 and edge sets E_1 and E_2 is the graph with vertex set $V_1 \times V_2$ and $u = (u_1, v_1)$ is adjacent with $v = (u_2, v_2)$ whenever u_1 is adjacent with u_2 or $u_1 = u_2$ and v_1 is adjacent with v_2 .

Lemma 2.4[12]. Every nontrivial tree has at least two vertices of degree one.

Lemma 2.5[16]. $d_{G[H]}((a, b)) = |V(H)|d_G(a) + d_H(b)$.

MAIN RESULTS ABOUT JOINS

Theorem 3.1.
$${}^mM_1(P_m+P_n)=\frac{2}{(n+1)^2}+\frac{m-2}{(n+2)^2}+\frac{2}{(m+1)^2}+\frac{n-2}{(m+2)^2}$$
, m, $n\geq 2$.

Theorem 3.2.
$${}^{m}M_{1}(K_{m}+K_{n})=\frac{m+n}{(m+n-1)^{2}}$$
, where $m, n \ge 2$.

Theorem 3.3.
$${}^{m}M_{1}(C_{m}+C_{n}) = \frac{m}{(n+2)^{2}} + \frac{n}{(m+2)^{2}}$$
, where $m, n \ge 3$.

Theorem 3.4.
$${}^{m}M_{1}(K_{1 \cdot m-1}+K_{1 \cdot n-1}) = \frac{m-1}{(n+1)^{2}} + \frac{n-1}{(m+1)^{2}} + \frac{2}{(m+n-1)^{2}}$$
, m, $n \ge 2$.

Theorem 3.5.
$${}^{m}M_{1}(P_{m}+C_{n}) = \frac{2}{(n+1)^{2}} + \frac{m-2}{(n+2)^{2}} + \frac{n}{(m+2)^{2}}, m \ge 2, n \ge 3.$$

Theorem 3.6.
$${}^{m}M_{1}(P_{m}+K_{1. n-1}) = \frac{2}{(n+1)^{2}} + \frac{m-2}{(n+2)^{2}} + \frac{n-1}{(m+1)^{2}} + \frac{1}{(m+n-1)^{2}},$$

where m, $n \ge 2$.

Theorem 3.7.
$${}^{m}M_{1}(C_{m}+K_{1. n-1}) = \frac{m}{(n+2)^{2}} + \frac{n-1}{(m+1)^{2}} + \frac{1}{(m+n-1)^{2}}$$
, where $m \ge 3$, $n \ge 2$.

Theorem 3.8.
$${}^{m}M_{1}(P_{m}+K_{n}) = \frac{2}{(n+1)^{2}} + \frac{m-2}{(n+2)^{2}} + \frac{n}{(m+n-1)^{2}}, m, n \ge 2.$$

Theorem 3.9.
$${}^{m}M_{1}(C_{m}+K_{n})=\frac{m}{(n+2)^{2}}+\frac{n}{(m+n-1)^{2}}$$
, where $m \ge 3$, $n \ge 2$.

Theorem 3.10.
$${}^{m}M_{1}(K_{m}+K_{1,n-1})=\frac{m+1}{(m+n-1)^{2}}+\frac{n-1}{(m+1)^{2}}$$
, where $m, n \geq 2$.

Theorem 3.11. Let G and H be simple connected graphs, we have $\frac{m+n}{(m+n-1)^2}$

$$\leq^{m} M_{1}(G+H) \leq \min \left\{ \frac{1}{4n} {}^{0}R_{1}(G) + \frac{1}{4m} {}^{0}R_{1}(H), \frac{n-1}{(m+1)^{2}} + \frac{2}{(m+n-1)^{2}} + \frac{2}{(m+n-1)^{2}} \right\}$$

$$\frac{m-1}{(n+1)^2}$$
, ${}^{0}R_{-1}(G)$ is defined in Definition 2.1, $m = |V(G)| \ge 2$, $n = |V(H)| \ge 2$.

Proof. Since $d(u) + d(v) \ge 2(d(u)d(v))^{0.5}$, by the definition of ${}^{m}M_{1}$ we have

$${}^{m}M_{1}(G+H) = \sum_{u \in V(G)} \frac{1}{(d(u)+n)^{2}} + \sum_{v \in V(H)} \frac{1}{(d(v)+m)^{2}}$$

$$\leq \sum_{u \in V(G)} \frac{1}{4nd(u)} + \sum_{v \in V(H)} \frac{1}{4md(v)} = \frac{1}{4n} {}^{0}R_{-1}(G) + \frac{1}{4m} {}^{0}R_{-1}(H). \text{ Since G+H is a}$$

subgraph of $K_m+K_n=K_{m+n}$, by Theorem 3.2 and the definition of mM_1 we have

$${}^{m}M_{1}(G+H) \ge \frac{m+n}{(m+n-1)^{2}}.$$

Claim: Let a, b be natural numbers, we have
$$\frac{1}{a^2} + \frac{1}{b^2} < \frac{1}{(a-1)^2} + \frac{1}{(b+1)^2}$$
, a

$$\geq$$
 2, a \leq b

In fact, let
$$f(x) = \frac{1}{x^2} - \frac{1}{(x+1)^2}$$
, $x \ge 2$. We have $f'(x) = -2(\frac{1}{x^3} - \frac{1}{(x+1)^3})$

0. Hence, f(x) is a decreasing function. Thus, we have
$$\frac{1}{b^2} - \frac{1}{(b+1)^2}$$

$$\frac{1}{(a-1)^2} - \frac{1}{a^2}$$
. The claim follows. By the claim above we have ${}^mM_1(G+H) \le$

$$\frac{m-1}{(n+1)^2} + \frac{n-1}{(m+1)^2} + \frac{2}{(m+n-1)^2}$$
. The theorem follows.

Similarly, we have

Theorem 3.12.
$${}^{m}M_{2}(P_{m}+P_{n}) = \frac{2}{(m+1)(m+2)} + \frac{n-3}{(m+2)^{2}} + \frac{2}{(n+1)(n+2)} + \frac{m-3}{(n+2)^{2}} + \frac{4}{(n+1)(m+1)} + \frac{2(n-2)}{(n+1)(m+2)} + \frac{2(m-2)}{(n+2)(m+1)} + \frac{(m-2)(n-2)}{(n+2)(m+2)},$$
where $m, n \ge 3$.

Theorem 3.13. ${}^{m}M_{2}(K_{m}+K_{n}) = \frac{m+n}{2(m+n-1)}$, where $m, n \ge 2$.

Theorem 3.14.
$${}^mM_2(C_m+C_n) = \frac{m}{(n+2)^2} + \frac{n}{(m+2)^2} + \frac{mn}{(n+2)(m+2)}$$
, m, $n \ge 3$.

Theorem 3.15.
$${}^{m}M_{2}(K_{1 \cdot m-1} + K_{1 \cdot n-1}) = \frac{2(m-1)}{(m+n-1)(n+1)} + \frac{2(n-1)}{(m+n-1)(m+1)} +$$

$$\frac{(m-1)(n-1)}{(n+1)(m+1)} + \frac{1}{(m+n-1)^2}$$
, where m, $n \ge 2$.

Theorem 3.16.
$${}^{m}M_{2}(P_{m}+C_{n}) = \frac{2}{(n+2)(n+1)} + \frac{m-3}{(2+n)^{2}} + \frac{2n}{(m+2)(n+1)} +$$

$$\frac{n(m-2)}{(m+2)(n+2)} + \frac{n}{(2+m)^2}$$
, where m, n \ge 3.

Theorem 3.17.
$${}^{m}M_{2}(P_{m}+K_{1\cdot n-1})=\frac{2}{(n+2)(n+1)}+\frac{m-3}{(2+n)^{2}}+$$

$$\frac{n-1}{(m+n-1)(m+1)} + \frac{2(n-1)}{(m+1)(n+1)} + \frac{2}{(m+n-1)(n+1)} + \frac{(m-2)(n-1)}{(m+1)(n+2)}$$

$$+\frac{m-2}{(m+n-1)(n+2)}$$
, where $m \ge 3, n \ge 2$.

Theorem 3.18.
$${}^{m}M_{2}(C_{m}+K_{1. n-1})=\frac{m}{(n+2)^{2}}+\frac{n-1}{(m+n-1)(m+1)}+$$

$$\frac{m(n-1)}{(m+1)(n+2)} + \frac{m}{(m+n-1)(n+2)}$$
, where $m \ge 3, n \ge 2$.

Theorem 3.19.
$${}^{m}M_{2}(P_{m}+K_{n}) = \frac{2}{(n+1)(n+2)} + \frac{m-3}{(n+2)^{2}} + \frac{n(n-1)}{2(m+n-1)^{2}} +$$

$$\frac{2n}{(m+n-1)(n+1)} + \frac{n(m-2)}{(m+n-1)(n+2)}$$
, where $m \ge 3$, $n \ge 2$.

Theorem 3.20.
$${}^{m}M_{2}(C_{m}+K_{n}) = \frac{m}{(n+2)^{2}} + \frac{n(n-1)}{2(m+n-1)^{2}} +$$

$$\frac{mn}{(m+n-1)(n+2)}, \text{ where } m \ge 3, n \ge 2.$$

Theorem 3.21.
$${}^{m}M_{2}(K_{m}+K_{1,n-1})=\frac{m(m+1)}{2(m+n-1)^{2}}+\frac{n-1}{m+n-1}$$
, where m, $n \ge 2$.

Theorem 3.22. Let G and H be simple connected graphs, we have ^mM₂(G+H)

$$< \frac{\chi(G)}{4n} + \frac{\chi(H)}{4m} + \frac{R^0(G)R^0(H)}{4\sqrt{mn}}$$
, where $R^0(G)$ and $\chi(G)$ are defined in

Definition 2.1, $m = |V(G)| \ge 2$, $n = |V(H)| \ge 2$.

Proof.
$${}^{m}M_{2}(G+H) = \sum_{uv \in E(G)} \frac{1}{(d(u)+n)(d(v)+n)} + \sum_{xy \in E(H)} \frac{1}{(d(x)+m)(d(y)+m)}$$

+
$$\sum_{u \in V(G)} \sum_{x \in V(H)} \frac{1}{(n+d(u))(d(x)+m)}$$
. Since $a+b \ge 2\sqrt{ab}$, where a and b are

positive numbers, we have
$${}^{m}M_{2}(G+H) \leq \sum_{uv \in E(G)} \frac{1}{4\sqrt{d(u)nd(v)n}} +$$

$$\sum_{xy\in E(H)}\frac{1}{4\sqrt{d(x)md(y)m}} + \sum_{u\in V(G)}\sum_{x\in V(H)}\frac{1}{4\sqrt{d(u)nd(x)m}} =$$

$$\frac{\chi(G)}{4n} + \frac{\chi(H)}{4m} + \frac{R^0(G)R^0(H)}{4\sqrt{mn}}$$
. Considering $a + b = 2\sqrt{ab}$ if and only if $a = b$,

if
$${}^{m}M_{2}(G+H) = \sum_{uv \in E(G)} \frac{1}{4\sqrt{d(u)nd(v)n}} + \sum_{xy \in E(H)} \frac{1}{4\sqrt{d(x)md(y)m}} +$$

$$\sum_{u \in V(G)} \sum_{x \in V(H)} \frac{1}{4\sqrt{d(u)nd(x)m}}, \text{ we have } d(u) = n, d(v) = n, d(x) = m, d(y) = m.$$

Because $d(u) \le m-1$, $d(x) \le n-1$, we have $n \le n-2$, which is a contradiction.

Hence, we have
$${}^{m}M_{2}(G+H) < \frac{\chi(G)}{4n} + \frac{\chi(H)}{4m} + \frac{R^{0}(G)R^{0}(H)}{4\sqrt{mn}}$$
. The theorem

follows.

MAIN RESULTS ABOUT COMPOSITIONS

Theorem 4.1.
$${}^{m}M_{1}(P_{m}[P_{n}]) = \frac{4}{(n+1)^{2}} + \frac{2(n-2)}{(n+2)^{2}} + \frac{2(m-2)}{(2n+1)^{2}} + \frac{(m-2)(n-2)}{(2n+2)^{2}},$$

where m, $n \ge 2$.

Theorem 4.2.
$${}^{m}M_{1}(K_{m}[K_{n}]) = \frac{mn}{(mn-1)^{2}}$$
, where $m, n \ge 2$.

Theorem 4.3.
$${}^{m}M_{1}(C_{m}[C_{n}]) = \frac{mn}{4(n+1)^{2}}$$
, where $m, n \ge 3$.

Theorem 4.4.
$${}^{m}M_{1}(K_{1 \cdot m-1}[K_{1 \cdot n-1}]) = \frac{(m-1)(n-1)}{(n+1)^{2}} + \frac{m-1}{(2n-1)^{2}} + \frac{n-1}{(mn-n+1)^{2}} + \frac{1}{(mn-n+1)^{2}}$$

Theorem 4.5.
$${}^{m}M_{1}(P_{m}[C_{n}]) = \frac{2n}{(n+2)^{2}} + \frac{n(m-2)}{(2n+2)^{2}}$$
, where $m \ge 2$, $n \ge 3$.

Theorem 4.6.
$${}^{m}M_{1}(P_{m}[K_{1\cdot n-1}]) = \frac{2(n-1)}{(n+1)^{2}} + \frac{2}{(2n-1)^{2}} + \frac{(m-2)(n-1)}{(2n+1)^{2}} + \frac{m-2}{(3n-1)^{2}},$$
 where $m, n \ge 2$.

Theorem 4.7.
$${}^{m}M_{1}(C_{m}[K_{1\cdot n-1}]) = \frac{m(n-1)}{(2n+1)^{2}} + \frac{m}{(3n-1)^{2}}$$
, where $m \ge 3$, $n \ge 2$.

Theorem 4.8.
$${}^{m}M_{1}(P_{m}[K_{n}]) = \frac{2n}{(2n-1)^{2}} + \frac{n(m-2)}{(3n-1)^{2}}$$
, where $m, n \ge 2$.

Theorem 4.9.
$${}^{m}M_{1}(C_{m}[K_{n}]) = \frac{mn}{(3n-1)^{2}}$$
, where $m \ge 3$, $n \ge 2$.

Theorem 4.10.
$${}^{m}M_{1}(K_{m}[K_{1,n-1}]) = \frac{m(n-1)}{(mn-n+1)^{2}} + \frac{m}{(mn-1)^{2}}$$
, where $m, n \ge 2$.

Theorem 4.11. Let G and H be simple connected graphs, we have $\frac{mn}{(mn-1)^2}$

$$\leq^{m} M_{1}(G[H]) \leq \min \{ \frac{1}{4n} {}^{0}R_{1}(G) {}^{0}R_{1}(H), \frac{(m-1)(n-1)}{(n+1)^{2}} + \frac{m-1}{(2n-1)^{2}} + \dots \}$$

$$\frac{n-1}{(mn-n+1)^2} + \frac{1}{(mn-1)^2}$$
, where ${}^{0}R_{-1}(G)$ is defined in Definition 2.1, m =

$$|V(G)| \ge 2$$
, $n = |V(H)| \ge 2$.

Proof. Because $n > d_H(b)$, we have $nd_G(a) + d_H(b) > 2(nd_G(a)d_H(b))^{0.5}$, where

$$b \in V(H)$$
, we have ${}^{m}M_{1}(G[H]) = \sum_{(a,b)\in V(G[H])} \frac{1}{[nd_{G}(a) + d_{H}(b)]^{2}}$

$$< \sum_{(a,b)\in V(G(H))} \frac{1}{4nd_G(a)d_H(b)} = \frac{1}{4n} {}^{0}R_{-1}(G){}^{0}R_{-1}(H)$$
. Since G[H] is a subgraph of

$$K_m[K_n] = K_{mn}$$
, by Theorem 3.2 we have ${}^mM_1(G[H]) \ge \frac{mn}{(mn-1)^2}$.

Claim: Let a, b and k be natural numbers, $a \ge k + 1$, $a \le b$, $k \ge 1$, we have $\frac{1}{a^2}$

$$+ \frac{1}{b^2} < \frac{1}{(a-k)^2} + \frac{1}{(b+k)^2}.$$
In fact, let $f(x) = \frac{1}{x^2} - \frac{1}{(x+k)^2}$, $x > 0$, we have $f'(x) = -2(\frac{1}{x^3} - \frac{1}{(x+k)^3})$

$$< 0. \text{ Hence, } f(x) \text{ is a decreasing function. Thus, we have } \frac{1}{b^2} - \frac{1}{(b+k)^2} < \frac{1}{(a-k)^2} - \frac{1}{a^2}.$$
 The claim follows.

By Lemma 2.5 and the definition of mM_1 , if edge e does not belong to E(G), we have ${}^mM_1((G+e)[H]) < {}^mM_1(G[H])$. Similarly, if edge e does not belong to E(H), we have ${}^mM_1(G[H+e]) < {}^mM_1(G[H])$. Hence, when ${}^mM_1(G[H])$ attains its maximum, both G and H are trees. If $G \neq K_{1,m-1}$, by Lemma 2.4, without loss of generality, let $d_G(a_1) = 1$, $a_1a_2 \in E(G)$, $d_G(a_i) = \Delta(G)$. Then, we let $G = G - a_1a_2 + a_1a_i$. By Lemma 2.5, in G[H] we have $d_{G[H]}(a_1, b) = n + d_H(b)$, $d_{G[H]}(a_2, b) = nd_G(a_2) + d_H(b)$, $d_{G[H]}(a_i, b) = nd_G(a_i) + d_H(b)$, $d_{G[H]}(a_i, b) = nd_G(a) + d_H(b)$, where $a \neq a_1$, a_2 , a_i . Similarly, in $G = M_1(a_i, b) = M_2(a_i) + M_2(a_i, b) = M_2(a_i) + M_2(a_i, b) = M_2(a_i) + M_2(a_i, b) = M_2(a_i, b)$. By the claim above we have $M_1(G[H]) < M_2(G[H])$. If $G \neq K_{1,n-1}$, we can do as above. Hence, considering the maximum of $M_1(G[H])$, we can suppose $G = K_{1,m-1}$.

Similarly, If $H \neq K_{1,n-1}$, by Lemma 2.4, without loss of generality, let $d_H(b_1) = 1$, $b_1b_2 \in E(H)$, $d_H(b_i) = \Delta(H)$. Then, we let $H' = H - b_1b_2 + b_1b_i$. By Lemma 2.5, in G[H] we have $d_{G[H]}(a, b_1) = nd_G(a) + d_H(b_1)$, $d_{G[H]}(a, b_2) = nd_G(a) + d_H(b_2)$, $d_{G[H]}(a, b_i) = nd_G(a) + d_H(b_i)$, $d_{G[H]}(a, b) = nd_G(a) + d_H(b)$, where $b \neq b_1$, b_2 , b_i . Similarly, in G[H'] we have $d_{G[H']}(a, b_1) = nd_G(a) + d_H(b_1)$, $d_{G[H']}(a, b_2) = nd_G(a) + d_H(b_2) - 1$, $d_{G[H']}(a, b_i) = nd_G(a_i) + d_H(b_i) + 1$, $d_{G[H']}(a, b) = nd_G(a) + d_H(b)$, where $b \neq b_1$, b_2 , b_i . By the claim above we have ${}^mM_1(G[H]) < {}^mM_1(G[H'])$. If $H' \neq K_{1,n-1}$, we can do as above. Hence, considering the maximum of ${}^mM_1(G[H])$, we can suppose $H = K_{1,n-1}$. Thus, the maximum of ${}^mM_1(G[H])$ is attained by $K_{1,m-1}[K_{1,n-1}]$. By Theorem 3.4 the theorem follows.

Theorem 4.12.
$${}^{m}M_{2}(P_{m}[P_{n}]) = \frac{mn^{2} - 3n^{2} - 3mn + m + 18n - 22}{(2n+2)^{2}} + \frac{2n-6}{(n+2)^{2}} +$$

Similarly, we have

$$\frac{n^2-4n+8}{(n+1)(n+2)} + \frac{2mn-3m-6n+18}{(n+1)(2n+1)} + \frac{4m-12}{(2n+1)^2} + \frac{4(n-2)}{(n+2)(2n+1)}, m, n \ge 3.$$

Theorem 4.13. ${}^{m}M_{2}(K_{m}[K_{n}]) = \frac{mn}{4(n+1)}$, where $m, n \ge 2$.

Theorem 4.14. ${}^{m}M_{2}(C_{m}[C_{n}]) = \frac{mn}{2(mn-1)}$, where $m, n \ge 3$.

Theorem 4.15.
$${}^{m}M_{2}(K_{1 \cdot m-1}[K_{1 \cdot n-1}]) = \frac{1}{2} \left\{ \frac{n-1}{mn-n+1} \left(\frac{(m-1)(n-1)}{n+1} + \frac{m-1}{2n-1} \right) \right\}$$

$$+\frac{1}{mn-1}$$
) + $\frac{1}{mn-1}$ ($\frac{(m-1)(n-1)}{n+1}$ + $\frac{m-1}{2n-1}$ + $\frac{n-1}{mn-n+1}$)+ $\frac{m-1}{2n-1}$ ($\frac{n-1}{n+1}$ +

$$\frac{n-1}{mn-n+1} + \frac{1}{mn-1} + \frac{1}{mn-1}$$

$$\frac{(m-1)(n-1)}{n+1}\left(\frac{n-1}{mn-n+1} + \frac{1}{2n-1} + \frac{1}{mn-1}\right), \text{ where m, } n \ge 2.$$

Theorem 4.16.
$${}^{m}M_{2}(P_{m}[C_{n}]) = \frac{n^{2}}{(n+2)(n+1)} + \frac{2n}{(2+n)^{2}} + \frac{n(mn-3n+m-2)}{4(n+1)^{2}}$$
,

where m, $n \ge 3$.

Theorem 4.17.
$${}^{m}M_{2}(P_{m}[K_{1. n-1}]) = \frac{2(n-1)}{(n+1)(2n-1)} + \frac{2(n-1)^{2}}{(1+n)(2n+1)} +$$

$$\frac{2(n-1)}{(3n-1)(n+1)} + \frac{2(n-1)}{4n^2-1} + \frac{2}{(2n-1)(3n-1)} + \frac{(3m-8)(n-1)}{(2n+1)(3n-1)}$$

$$+\frac{(n-1)^2(m-3)}{(2n+1)^2}+\frac{m-3}{(3n-1)^2}$$
, where $m \ge 3$, $n \ge 2$.

Theorem 4.18.
$${}^{m}M_{2}(C_{m}[K_{1 \cdot n-1}]) = \frac{m(n-1)^{2}}{(2n+1)^{2}} + \frac{m}{(3n-1)^{2}} + \frac{3m(n-1)}{(2n+1)(3n-1)}$$
, where $m \ge 3$, $n \ge 2$.

Theorem 4.19.
$${}^{m}M_{2}(P_{m}[K_{n}]) = \frac{2n^{2}}{(2n-1)(3n-1)} + \frac{n(n-1)}{(2n-1)^{2}} + \frac{n(2n-1)}{(3n-1)^{2}} +$$

$$\frac{n(m-4)}{2(3n-1)}, \text{ where } m \ge 3, n \ge 2.$$

Theorem 4.20. ${}^{m}M_{2}(C_{m}[K_{n}]) = \frac{mn}{2(3n-1)}$, where $m \ge 3$, $n \ge 2$.

Theorem 4.21.
$${}^{m}M_{2}(K_{m}[K_{1,n-1}]) = \frac{m^{2}(n-1)}{(mn-n+1)(mn-1)}$$

$$+\frac{m(m-1)(n-1)^2}{2(mn-n+1)^2}+\frac{m(m-1)}{2(mn-1)^2}$$
, where m, $n \ge 2$.

Theorem 4.22. Let G and H be simple connected graphs, we have ${}^{m}M_{2}(G[H])$ $\leq \frac{{}^{0}R_{-1}(G)\chi(H) + \chi(G)(R^{0}(H))^{2}}{4n}$, where $R^{0}(G)$ and $\chi(G)$ are defined in

Definition 2.1, $m = |V(G)| \ge 2$, $n = |V(H)| \ge 2$.

Proof. Since $\operatorname{nd}_{G}(w) + \operatorname{d}_{H}(v) > 2\sqrt{nd_{G}(w)d_{H}(v)}$, we have ${}^{m}M_{2}(G[H]) =$

$$\sum_{w \in V(G)} \sum_{uv \in E(H)} \frac{1}{nd_G(w) + d_H(u)} \frac{1}{nd_G(w) + d_H(v)} + \sum_{ab \in E(G)} \sum_{v \in V(H)} \sum_{u \in V(H)} \frac{1}{nd_G(a) + d_H(u)} \frac{1}{nd_G(b) + d_H(v)} < \frac{1}{4n} \sum_{w \in V(G)} \sum_{uv \in E(H)} \frac{1}{d_G(w) \sqrt{d_H(u)d_H(v)}} + \frac{1}{4n} \sum_{w \in V(G)} \sum_{uv \in E(H)} \frac{1}{d_G(w) \sqrt{d_H(u)d_H(v)}} + \frac{1}{4n} \sum_{w \in V(G)} \sum_{uv \in E(H)} \frac{1}{d_G(w) \sqrt{d_H(u)d_H(v)}} + \frac{1}{4n} \sum_{w \in V(G)} \sum_{uv \in E(H)} \frac{1}{d_G(w) \sqrt{d_H(u)d_H(v)}} + \frac{1}{4n} \sum_{w \in V(G)} \sum_{uv \in E(H)} \frac{1}{d_G(w) \sqrt{d_H(u)d_H(v)}} + \frac{1}{4n} \sum_{w \in V(G)} \sum_{uv \in E(H)} \frac{1}{d_G(w) \sqrt{d_H(u)d_H(v)}} + \frac{1}{4n} \sum_{w \in V(G)} \sum_{uv \in E(H)} \frac{1}{d_G(w) \sqrt{d_H(u)d_H(v)}} + \frac{1}{4n} \sum_{w \in V(G)} \sum_{uv \in E(H)} \frac{1}{d_G(w) \sqrt{d_H(u)d_H(v)}} + \frac{1}{4n} \sum_{w \in V(G)} \sum_{uv \in E(H)} \frac{1}{d_G(w) \sqrt{d_H(u)d_H(v)}} + \frac{1}{4n} \sum_{w \in V(G)} \sum_{uv \in E(H)} \frac{1}{d_G(w) \sqrt{d_H(u)d_H(v)}} + \frac{1}{4n} \sum_{w \in V(G)} \sum_{uv \in E(H)} \frac{1}{d_G(w) \sqrt{d_H(u)d_H(v)}} + \frac{1}{4n} \sum_{w \in V(G)} \sum_{uv \in E(H)} \frac{1}{d_G(w) \sqrt{d_H(u)d_H(v)}} + \frac{1}{4n} \sum_{w \in V(G)} \sum_{uv \in E(H)} \frac{1}{d_G(w) \sqrt{d_H(u)d_H(v)}} + \frac{1}{4n} \sum_{uv \in E(H)} \frac{1}{d_G(u) \sqrt{d_H(u)d_H(u)}} + \frac{1}{4n} \sum_{uv \in E(H)} \frac{1}{d_G(u) \sqrt{d_H(u)d_H(u)}} + \frac{1}{4n} \sum_{uv \in E(H)} \frac{1}{d_G(u) \sqrt{d_H(u)}} + \frac{1}{4n} \sum_{uv \in E(H)} \frac{1}{d_G(u) \sqrt{d_H(u)}} + \frac{1}{4n} \sum_{uv \in E(H)} \frac{1}{d_G(u)} + \frac{1}{4n} \sum_{uv \in E(H$$

$$\frac{1}{4n} \sum_{ab \in E(G)} \sum_{v \in V(H)} \sum_{u \in V(H)} \frac{1}{\sqrt{d_G(a)d_G(b)}} \frac{1}{\sqrt{d_H(u)}} \frac{1}{\sqrt{d_H(v)}} =$$

$$\frac{{}^{0}R_{-1}(G)\chi(H)+\chi(G)(R^{0}(H))^{2}}{4n}$$
. The theorem follows.

Acknowledgements: The project supported by the Natural Science Foundation of Department of Education of Zhejiang Province of China (No. 20070441); The project supported by the Invention Group of Zhejiang Normal University; National Nature Science Foundation of China (No. 10971198); Zhejiang Provincial Natural Science Foundation of China (No. Y6090699).

References

- [1]. I. Gutman, N. Trinajstic, Graph theory and molecular orbitals, total ∏ electron energy of alternant hydrocarbons, *Chem. Phys. Lett.*, 17(1972) 535-538.
- [2]. I. Gutman, B. Ruscic, N. Trinajstic, C.F. Wilcox, Jr., Graph theory and molecular orbitals, XII. acyclic polyenes, J. Chem. Phys., 62(1975), 3399-3405.
- [3]. R. Todeschini, V. Consonni, *Handbook of Molecular Descriptors*, Weinheim, Wiley-VCH, 2000.
- [4]. S. Nikolic, Iva Marija Tolic, N. Trinajstic, Ivo Baucic, On the Zagreb

- indices as complexity indices, Croat. Chem. Acta, 73(4)(2000), 909-921.
- [5]. A. Milicevic, S. Nikolic, On variable Zagreb indices, Croat. Chem. Acta, 77(2004), 97-101.
- [6] S. Nikolic, G. Kovacevic, A. Milicevic, N. Trinajstic, The Zagreb indices 30 years after, Croat. Chem. Acta, 76(2003) 113-124.
- [7] I. Gutman, K.C. Das, The first Zagreb index 30 years after, MATCH Commun. Math. Comput. Chem., 50(2004) 83-92.
- [8] A. Milicevic, S. Nikolic, N. Trinajstic, On reformulated Zagreb indices, *Molecular Diversity*, 8(2004) 393-399.
- [9] X. Li, J. Zheng, A unified approach to the extremal trees for different indices, MATCH Commun. Math. Comput. Chem., 54(1)(2005) 195-208.
- [10] M. Randic, On characterization of molecular branching, J. Am. Chem. Soc., 97(1975) 6609-6615.
- [11] L.B. Kier, L.H. Hall, molecular connectivity in structure-analysis, Wiley, Chichester, UK, Research Studies Press, 1986.
- [12] J.A. Bondy, U.S.R. Murty, *Graph Theory with Applications*, London, Macmillan Press Ltd, 1976.
- [13] C.H. Papadimitriou, K. Steiglitz, Combinatorial Optimization: Algorithms and Complexity, Englewood Cliffs, New Jersey, Prentice-Hall, Inc, 1982.
- [14] B.E. Sagan, Y.N. Yeh, P. Zhang, The Wiener polynomial of a graph, *Int. J. Quantum. Chem.*, 60(5)(1996) 959-969.
- [15] W. Imrich, S. Klavzar, *Product Graphs: Structure and Recognition*, John Wiley & Sons, New York, USA, 2000.
- [16] M.H. Khalifeh, H. Yousefi-Azari, A.R. Ashrafi, The Hyper-Wiener index of graph operations, *Comput. Math. Appl.* 56(2008) 1402-1407.